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QUESTION 1

MapReduce v2 (MRV2/YARN) is designed to address which two issues?
A. Single point of failure in the NameNode.

B. Resource pressure on the JobTracker.

C. HDFS latency.

D. Ability to run frameworks other than MapReduce, such as MPI.

E. Reduce complexity of the MapReduce APIs.

F. Standardize on a single MapReduce API.

Correct Answer: AB

Reference: Apache Hadoop YARN ?Conceptsand; Applications

QUESTION 2

Review the following data and Pig code.

M,38,95111

F,29,95060

F,45,95192

M,62,95102

F,56,95102

A = LOAD andapos;dataandapos; USING PigStorage(andapos;.andapos;) as (gender:Chararray, age:int,
zlp:chararray);

B = FOREACH A GENERATE age;

Which one of the following commands would save the results of B to a folder in hdfs named myoutput?
A. STORE A INTO andapos;myoutputandapos; USING PigStorage(andapos;,andapos;);

B. DUMP B using PigStorage(andapos;myoutputandapos;);

C. STORE B INTO andapos;myoutputandapos;;

D. DUMP B INTO andapos;myoutputandapos;;

Correct Answer: C
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QUESTION 3

Which one of the following statements describes a Hive user-defined aggregate function?
A. Operates on multiple input rows and creates a single row as output

B. Operates on a single input row and produces a single row as output

C. Operates on a single input row and produces a table as output

D. Operates on multiple input rows and produces a table as output

Correct Answer: A

QUESTION 4

Can you use MapReduce to perform a relational join on two large tables sharing a key? Assume that the two tables are
formatted as comma-separated files in HDFS.

A. Yes.

B. Yes, but only if one of the tables fits into memory

C. Yes, so long as both tables fit into memory.

D. No, MapReduce cannot perform relational operations.

E. No, but it can be done with either Pig or Hive.

Correct Answer: A

Explanation: Note:

*

Join Algorithms in MapReduce A) Reduce-side join B) Map-side join
C) In-memory join / Striped Striped variant variant / Memcached variant

*

Which join to use? / In-memory join > map-side join > reduce-side join / Limitations of each? In-memory join: memory
Map-side join: sort order and partitioning Reduce-side join: general purpose

QUESTION 5

Which best describes what the map method accepts and emits?

A. It accepts a single key-value pair as input and emits a single key and list of corresponding values as output.
B. It accepts a single key-value pairs as input and can emit only one key-value pair as output.

C. It accepts a list key-value pairs as input and can emit only one key-value pair as output.
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D. It accepts a single key-value pairs as input and can emit any number of key-value pair as output, including zero.
Correct Answer: D

Explanation: public class Mapper extends Object Maps input key/value pairs to a set of intermediate key/value pairs.
Maps are the individual tasks which transform input records into a intermediate records. The transformed intermediate
records need not be of the same type as the input records. A given input pair may map to zero or many output pairs.

Reference: org.apache.hadoop.mapreduce

Class Mapper
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